2 Cellar Awd  [crrestrial Co-ordinalcs

The Polar axis of the Earth (S £ilted at aw awgle of 66:5° 4o
the Geliptic . Tt follows tuat the (atitudes of the Tropic of
Cancer awd Capricorn arc 23'S° N aud 23-$* S, respettively,
Assve that Polaris lies at the WNorth Celestial Pole, ie., its
declination is + 9° We have shown tuat tic augle of
clevation of Polaris (s equal +t the oObscrver’s latitude.
For the questions Comcerning apparcut differcutes in  time
dve to dif ferecuces in obsecevers' lougftwlg) reucmbor f:l.,.,t’:n a

Eime interval of four wminvbes, the Eartu rotates one degree.

O From a letitde 0f SS°4, a Star it observed directily
OVer head . Deter wine tue declination 0f the star.

Ans. Fl’ojccét'ou of /a'h'twlc 569 N ou the Celes tial Sp here
It a declination of 1+ 5s° o deelination = + §¢°

@ At What auwgle above the horizon will the Sva be at (ocaf

hoon to au obsecrvee ou the Tropic of Capricorn on thc date
0f the svuwmer Solstice ?

Ans. At the Svumer Sols tice ) the a‘cclfno.él'on of the Suw ¢ T 23'5{
The latitvde of the Tropic of Capricorm = 2341 S . +ie
Sun s 47°  from the 3eni ty SF 3° above the h ori3on .

@ Two observers differ in  theie longitodes by (20, One observer
Whe i1 farther Gast Sces a given Star Culwinate
at  2({: 30, At What time will the o ther 5tudent Scc the
Culwmination 0f the Sawc séu?

Aus.

[2° lowgrtude = 48 wiavtes.

.. Wes teen | Observer Sces the star Culwminaete at 22018




